
 

Question about Aromatic Zone Substitution
pattern
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Two types of AA BB Systems

Ha 40 6HB Example TFKIRHa XI 0Hrs

Hot
Hrs fR example 7

R TENHrs 1
HA



Colt 3

2 units of unsafe
18
IL
24h2mn7s

IR Carbonyl
no alcohol

HNMR

IFI ITI my f assignment
3 x CHz

2.3 34 S of EWG CHz

3 3 ZA S CHz EWG



C solvent

0 O

IL Ko

27.9 Fyi
30.0 alkyl
51.5

81.9 C o

166.3 ketone I
201.2 ester 4



3xCHz
termination

CAs EWG

CHz Ewg gats
0 114

Rod termination
q 3

CHz o Q c.az 1
end

end

A s IITsTO s

o
sNoEsle

S

B 4 ODERs s



A B

6K us IR
µµpqz

g3

CH3 3CH3

Tim ppm


